#%| BISON GEAR

INEOS Grenadier
Back MOLLE Panel

Installation Guide

WINPAN-GRND-R, WINPAN-GRND-L

el

el

i Before you start

Instruction includes information about left and right panel installation. Familiarize yourself
with these instructions. The Back MOLLE Panelis shipped in one packet. Ensure that all
listed parts and hardware are present in package. Locate a flat surface with a minimum
area of 1 x 1 meters. Gather the required tools. The installation will necessitate one adult.

bison-gear.com Page10of7



BISON GEAR

€& Part list -Right panel

DIN-6923

p BART QTY IMAGE
@D@QQDDD BISIN GEAn @@Q@@DC)D
DDDQQQDQQ@C}D@DQDDD
@Qggg_g CJDODDODL@)
1 Rightpanel 1 SEISSIS= SEISEISE
SCS5oo0 SEISEtaE
5 C-shape 2
spacer
3 Magnet 4
Countersunk
4 bolt M5x14 4
ISO 7991
5 Flange nut M5 4

bison-gear.com

Page 2 of 7



BISON GEAR

Flange Bolt
6 M6x16 6
ISO 7380-2

Felt tape 20 52
mm cm

& Part list -Left panel

LP PART QTY IMAGE

Q000000 0], wwe 00000000 |

::)(:E::E:C:

DDD@@D@DODDODD@DQD

:

C]DC]C]DD DDDDDD
(::J
:

C]CJDDC)D 000000

(:)::

DDQDQDDQDD@D@@ODDD

(:S(_—_’)(::)::::

@@DDDD@DDDDDDDD

1 Left panel 1 500000 C]DEDC)DQ‘

C-shape
spacer

bison-gear.com Page 3of 7



3 Magnet 4
Countersunk
4 bolt M5x14 4
ISO-7991
5 Flange nut M5 4
DIN-6923
Flange Bolt
6 M6x16 6
ISO 7380-2
5 Felt tape 20 52
mm cm

bison-gear.com

Page 4 of 7



BISON GEAR

A List of necessary tools":

3 mm Allen Key (Hex)
4 mm Allen Key (Hex)
8 mm wrench

Cutter

& |nstallation:

Before you start, you need to prepare the components before main installation. First,

assemble C-shape spacers and magnets using the fasteners shown in the diagram below.

Each panel (left or right) contains two assembled spacers.

Flange nut M5
DIN 6923

Mag

Tapered head bolt M5x14
ISO 7991

TNOTE: The tools are not the part of the set.

bison-gear.com

Page 50of 7



BISON GEAR

Next, you need to glue the felt tape (include to the kit) as shown in the diagram below. If

necessary, trim excess felt tape.

it.

bison-gear.com Page 6 of 7



BISON GEAR

Put the assembled panelto the your’s Ineos Grenadier. Be careful, magnets are very strong.
Install the panelin such a way that the lower part of the panel should rest on the car body.

The installation method described for left panel. The installation of the right panel should

be done in a similar way.

Make sure that everything is mount properly and the panelis stable. If it everything is correct,

your work is done.

After driving 50 km with your panel, check all the bolts and re-tighten them if necessary.

Have great time with Bison Gear product!

[ o )

BISON
GEAR

Email: contact@bison-gear.com

Phone: +48 505 642 981

bison-gear.com Page 7 of 7



